

Term.....: 2025FA  
 School.....:  
 Division...: Student Services  
 Department: Student Development

Course		Total	Total	Title	Instructor	Instr	Max	Used	Avail	Wait
Cens	Creds	CEUs	Creds			Meth				
		CEUs	Synonym							
			CEUs							
SDEV-001-01			6260	Orientation to	Perez, Alecia M.	DE72	30	24	6	0
24	1.00	24.00	0.00							
SDEV-001-02			6262	Orientation to			30	0	30	0
0	1.00	0.00	0.00							
SDEV-001-03			6254	Orientation to	Gonzalez, Stephany	LEC	24	29	-5	0
29	1.00	29.00	0.00		Gonzalez, Stephany	DE72				
SDEV-001-05			6264	Orientation to			30	0	30	0
0	1.00	0.00	0.00							
SDEV-001-07			6256	Orientation to	Garibay, Thalia B.	LEC	32	31	1	0
31	1.00	31.00	0.00		Garibay, Thalia B.	DE72				
SDEV-001-08			6258	Orientation to			32	32	0	0
32	1.00	32.00	0.00							
SDEV-102-01			6318	Pathway College	Rotell, Valecia M.	DE72	30	26	4	0
26	3.00	78.00	0.00							
SDEV-102-02			6276	Pathway College			20	0	20	0
0	3.00	0.00	0.00							
SDEV-102-03			6274	Pathway College	Giles, Keenan D.	LEC	40	32	8	0
32	3.00	96.00	0.00							
SDEV-102-04			6278	Pathway College	Fierro, Marie G.	LEC	30	22	8	0
22	3.00	66.00	0.00							
SDEV-102-05			6280	Pathway College	Perez, Alberto M.	LEC	30	30	0	0
30	3.00	90.00	0.00		Perez, Alberto M.	DE72				
SDEV-102-06			6306	Pathway College	Matavao, Ulavale E	LEC	30	27	3	0
27	3.00	81.00	0.00		Matavao, Ulavale E	DE72				
SDEV-102-07			6316	Pathway College	Hall, Courtney	LEC	30	27	3	0
27	3.00	81.00	0.00							
SDEV-102-08			6320	Pathway College	Leduc, Maria L.	DE72	30	26	4	0
26	3.00	78.00	0.00							
SDEV-102-09			6322	Pathway College	Villanueva, Romana	DE72	30	29	1	0
29	3.00	87.00	0.00							
SDEV-102-10			6332	Pathway College	Luke, Craig S.	LEC	30	14	16	0
14	3.00	42.00	0.00							
SDEV-102-11			6334	Pathway College	Segovia, Lorena	LEC	30	12	18	0
12	3.00	36.00	0.00		Segovia, Lorena	DE72				
SDEV-102-12			6272	Pathway College	Orozco, Brenda D.	LEC	30	28	2	0
28	3.00	84.00	0.00							
SDEV-102-13			6336	Pathway College	Segovia, Lorena	LEC	30	10	20	0
10	3.00	30.00	0.00		Segovia, Lorena	DE72				
SDEV-102-14			6314	Pathway College	Gonzalez, Pedro F.	LEC	30	13	17	0
13	3.00	39.00	0.00							
SDEV-102-15			6308	Pathway College	Valenzuela, Jennif	LEC	30	29	1	0
29	3.00	87.00	0.00		Valenzuela, Jennif	DE72				
SDEV-102-16			6310	Pathway College	Arreola Jauregui,	LEC	30	26	4	0
26	3.00	78.00	0.00		Arreola Jauregui,	DE72				
SDEV-102-17			6312	Pathway College	Laguna, Tania L.	LEC	30	17	13	0
17	3.00	51.00	0.00		Laguna, Tania L.	DE72				
SDEV-102-18			6282	Pathway College	Bowyer, Rumeisha N	LEC	30	25	5	0
25	3.00	75.00	0.00							

SDEV-102-19	6288	Pathway College	Bowyer, Rumeisha N	DE72	30	25	5	0
25 3.00	75.00 0.00		Bowyer, Rumeisha N	LEC				
SDEV-102-20	6284	Pathway College	Bowyer, Rumeisha N	DE72	30	32	-2	0
32 3.00	96.00 0.00		Perez, Alberto M.	LEC				
SDEV-102-21	6286	Pathway College	Perez, Alberto M.	DE72	40	34	6	0
34 3.00	102.00 0.00		Matavao, Ulavale E	LEC				
SDEV-102-23	6290	Pathway College	Matavao, Ulavale E	DE72	30	28	2	0
28 3.00	84.00 0.00		Sanchez, Victoria	LEC				
SDEV-102-25	6300	Pathway College	Sanchez, Victoria	DE72	30	20	10	0
20 3.00	60.00 0.00		Hunt, Syntoia	LEC				
SDEV-102-26	6268	Pathway College	Hunt, Syntoia	DE72	30	24	6	0
24 3.00	72.00 0.00		Rodriguez, Andrea	DE72				
SDEV-102-28	6270	Pathway College	Rodriguez, Andrea	DE72	30	16	14	0
16 3.00	48.00 0.00		Nguyen, Duc D.	LEC				
			Nguyen, Duc D.	DE72				

13:16

Term.....: 2025FA  
 School.....:  
 Division...: Student Services  
 Department: Student Development

Course		Total	Total	Title	Instructor	Instr	Max	Used	Avail	Wait
Cens	Creds	CEUs	Synonym			Meth				
			Creds							
			CEUs							
SDEV-102-29			6296	Pathway College	Ceron, Katharine J	LEC	30	31	-1	0
31	3.00	93.00	0.00							
					Ceron, Katharine J	DE72				
					Wallace, Christoph	LEC				
SDEV-102-30			6292	Pathway College			40	0	40	0
0	3.00	0.00	0.00							
SDEV-102-31			6304	Pathway College			40	0	40	0
0	3.00	0.00	0.00							
SDEV-102-61			6298	Pathway College	Ortiz Archila, Rob	LEC	30	15	15	0
15	3.00	45.00	0.00							
					Ortiz Archila, Rob	DE72				
SDEV-102-70			6324	Pathway College	Wallace, Christoph	DE72	30	23	7	0
23	3.00	69.00	0.00							
SDEV-102-71			6326	Pathway College			30	0	30	0
0	3.00	0.00	0.00							
SDEV-102-72			6328	Pathway College			30	0	30	0
0	3.00	0.00	0.00							
SDEV-103-01			6342	Career Explorat	Segovia, Lorena	LEC	30	23	7	0
23	3.00	69.00	0.00							
					Segovia, Lorena	DE72				
SDEV-103-03			6338	Career Explorat	Wilkins, Janice S.	DE72	30	27	3	0
27	3.00	81.00	0.00							
SDEV-103-70			6340	Career Explorat	Wallace, Christoph	DE72	30	24	6	0
24	3.00	72.00	0.00							
SDEV-015-02			6266	Puente: Strateg			28	0	28	0
0	1.00	0.00	0.00							
SDEV-102-22			6294	Pathway College			40	0	40	0
0	3.00	0.00	0.00							
SDEV-102-24			6302	Pathway College	Perez, Alecia M.	LEC	30	25	5	0
25	3.00	75.00	0.00							
SDEV-102-27			6330	Pathway College	Villanueva, Romana	DE72	30	21	9	0
21	3.00	63.00	0.00							
SDEV-102-32			6305	Pathway College			30	0	30	0
0	3.00	0.00	0.00							
SDEV-102-33			6307	Pathway College	Sanchez, Victoria	LEC	30	26	4	0
26	3.00	78.00	0.00							
					Sanchez, Victoria	DE72				
SDEV-102-34			6309	Pathway College	Banuelos, Elizabet	LEC	28	31	-3	0
31	3.00	93.00	0.00							
					Banuelos, Elizabet	DE72				
SDEV-102-35			6311	Pathway College	Monarrez, Amador J	LEC	30	23	7	0
23	3.00	69.00	0.00							
					Monarrez, Amador J	DE72				
SDEV-102-36			6313	Pathway College	Monarrez, Amador J	LEC	30	30	0	0
30	3.00	90.00	0.00							
					Monarrez, Amador J	DE72				
SDEV-102-37			6315	Pathway College			30	0	30	0
0	3.00	0.00	0.00							
SDEV-102-38			6317	Pathway College			30	0	30	0
0	3.00	0.00	0.00							
SDEV-102-73			6319	Pathway College	Brown, Janeth R.	DE72	30	20	10	0
20	3.00	60.00	0.00							
SDEV-102-74			6321	Pathway College	Begg, Erica J.	DE72	30	30	0	4
30	3.00	90.00	0.00							
SDEV-102-76			6329	Pathway College			30	0	30	0
0	3.00	0.00	0.00							
SDEV-102-41			6331	Pathway College	Hall, Courtney	LEC	30	12	18	0
12	3.00	36.00	0.00							

SDEV-102-39	6323	Pathway College Huang, Michael J.	LEC	30	30	0	4
30 3.00	90.00 0.00						
			Huang, Michael J.	DE72			
SDEV-102-40	6325	Pathway College		30	0	30	0
0 3.00	0.00 0.00						
SDEV-102-75	6327	Pathway College		30	0	30	0
0 3.00	0.00 0.00						
SDEV-102-42	6333	Pathway College		30	0	30	0
0 3.00	0.00 0.00						
SDEV-102-43	6335	Pathway College		30	0	30	0
0 3.00	0.00 0.00						
SDEV-102-77	5381	Pathway College		30	30	0	0
30 3.00	90.00 0.00						
=====				=====	=====	=====	=====
=====				1894	1109	785	8
1109							